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7. A car can travel 60km on 4litre of petrol. How far can it travel on 15 litres of petrol.3mks?
HLlibtres = 60km BL = O ¥ 15
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8. A can contains 5litres of }/ o 215 kH I /C/M}
C ins 5li petrol .if the weight is 4kg, calculate the density of petrol, 3mks
d= M s 5
9@@@ = i) %/

9. A.Acar left Kltalegf 224g>hrsdmd arrived at%rs %Fe next day tow did the journey take 3mks
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b. If the distance between kltale and Nairobi is 250km find the average speed of the car. 3mks
C. SRRSO s oM 3
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= 652 knlhe.

10. Solve the following equation .3mks
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11. Solve the following simultaneous equation. 3mks

(2k+m=7 \ i
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